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3) Solve: 4)  Solve:
Write as a percent: 0.148 Write as a fraction: 83%
5) Solve: 6) Solve:
Write as a decimal: 99% Write as a fraction: 0.19
7 Solve: 8) Solve:
20 speakers for $8
— d to 2 decimal p!
Convert to a j, (round to 2 decimal places)
decimal: o
(Round to 5 decimal places)
9) Solve 10) Solve

Write in scientific notation: Write in decimal notation:
430000000 -2.2x10'"?



11)

13)

15)

17)

19)

21)

(:L,Ori‘vv -er rode wed }

Solve

Write in scientific notation:
0.0000000000034

Solve:
Which is different?

6.2%, 0.0063,

6.3x107,
800

Solve. Explain how you get the

answer without using a calculator:

What do you get when you add an
odd number and an even number?

Solve. Explain how you get the

answer without using a calculator:

-12

Solve:
Is 562863 divisible by 10?

(U3 ~1de Hhe rale ch’n{)

Solve:
Is 562976 divisible by 3?

\

12)

14)

16)

18)

20)

22)

Solve

Write in decimal notation:
-4.3x10°"2

Solve. Explain how you get the
answer without using a
calculator:

46| =

Solve. Explain how you get the
answer without using a
calculator:

7--5=

Solve. Explain how you get the
answer without using a
calculator:

24 +4 =

Solve:
Is 80432 divisible by 87

(U..: iYe 4o (= wsernd )

Solve:
Is 13697 divisible by 9?7

(conete e pule wsed )



23) Solve: 24) Solve:
Is 168377 divisible by 11? _ What is the GCF of 60 and 27
)

(‘Lg,z--:{'é‘ e rv—\c" Y |

25) Solve: 26) Solve:
What is the LCM of 12 and 6? Write the following numbers in
order from greatest to least:
-35, -4, 39 . o
(W52 v '34[’ '-';',(2 4"»3 f&j;’itl‘k‘l&)
27) Solve: 28) Solve:
Write the following numbers in order Write the following numbers in
from greatest to least: order from greatest to least:
16, -45, 24 ) -7 -1 42
] ’ ( 4 - .
(v mf—g_ e LTTF) Depei /z-/s) , ,
. 45 2 19 beris
(tus ’ & L la;l' . ’ -"',"l & .Q
29) Solve: 30) Solve:c ik ‘ ﬁ) >J s )
Write the following numbers in order Write the following numbers in
from least to greatest: order from least to greatest:
23 3 9 3.56,-1.6, 8.23
T s ¢ f L i
’ ’ {(x.‘:;c u{:/Z;; e",‘i.(a‘!(j bﬂwih/;)
43 7 23
.l . .
i N , A pat l‘ S <L','ai;‘ Y A
(Les Iacgin ﬁj syebely )
31) Solve: 32) Solve:
Write the following numbers in order Write the following numbers in
from least to greatest: order from greatest to least:
2.6,1.8,0.61 i

(li«(‘sz"; iv-c"z?:cut} f‘lj {:)‘t'j/}i&\/_-;) e +, 42000, and
(‘Usu ,n\ﬁ- N2 \‘.\..,_) ,,\b l )



33) Solve: 34) Name the set or sets of numbers

Write the following numbers in order to which each real number
from greatest to least: belongs:
A -67
-2400, 2600 ,and
A A

(USZ’ ;rtr.-??;‘ L /I(')Ll.j %{jﬂ}kjﬁt /.-?)

35) Name the set or sets of numbers to 36) Name the set or sets of numbers
which each real number belongs: to which each real number
belongs:
-8

37) Graph: 38) Graph:
5 12
3 5

e = T A = N
654321012 34°¢E 65432101234

39) Graph: 40) Graph:

- \/28 - \/;2

L) B, N S W S A
6543210123 4F¢E 65432101234



41)

43)

45)

47)

49)

Solve:
7+5-6
Solve:
118 + 2
7 + 5
Solve:
(4-5)-6

Name the Property (example:
associative property of
multiplication)

240=2

Name the Property (example:
associative property of
multiplication)
ifx+4=-2and-2=-x+3thenx +
4=-x+3

42)

44)

46)

48)

50)

Solve:
3-1+8

Solve:
9 32-3(1+4+9)]+9+6

Name the Property (example:
associative property of
multiplication)
(1+-3)-4=1--4+-3

Name the Property (example:
associative property of
multiplication)

ifx=1and-2x -1 =y then -2(1) -
I=y

Name the Property (example:
associative property of
multiplication)
if-3x-3=2then-3x-3+2=4



51) Solve: 52) Solve:

1 3 3 6
. -
5 5 5 5
53) Solve: 54) Solve:
5 -3 1
+ 11 1
11 4 10
55) Solve: 56) Solve:
-1 1 -1
-6 =
4 2 2
57) Solve: 58) Approximate (to 2 decimal
5.695 +4.245 = places):
32
47
59) Solve: 60) Solve:
Nancy found 31 chairs for $6. Please There is a special at the store: $36
help Nancy by figuring out the ratio. for 7 tulips. Paul is trying to
(round to 2 decimal places) figure out if it's a good deal. Help

Paul figure out the unit price
(round to 2 decimal places)



61)

63)

65)

67)

Solve: 62)
Evaluate: -3x + 1 - (2x? -3) when

X =l.

Solve: 64)
Is 1 a perfect square?

Simplify: 66)

V196 -

Approximate: 68)
Between which two whole numbers
is:

Yos =

Solve:
Evaluate: 3x2(-2x> + x) + 18
when x = -4.

Solve:
Is -1 a perfect square?

Approximate:
Between which two whole
numbers is;

\f162=

Evaluate:

' =



69) Plot the points: 70) Plot the points:

Plot: (-3,4), {1,0), (3.-3), @-4), and Plot(-3,-1), (-4,2), (-4,0), (1.,4),
(1,0) l and (-1,-1) B
T T -f ; T -2 -

e
Ha

71) Solve: 72) Solve:
Write the Coordinates: Write the Coordinates:
. 3 LY

e
>

17y
ey

o




73) Solve: 74) Solve:

To print this page, set your options To print this page, set your
up to print background images. options up to print background
Write the Coordinates: images.
' Write the Coordinates:
3 ¢
-B R B Y - 4
3 -13 -R 1 4
: ¢
75) Which Quadrant does the point lie 76) Which Quadrant does the point
in?: lie in?:
A A R S T 3
2 ® 2
b3 . -3




™ Whi e quadrants
do-fhe ol it

[ie Iy\

a\(*Q)Q)
b (%) 2)
¢) (=h-3)
d (32)

79)

Solve:
Reflect the quadrilateral with

vertices: (-2,4), (-2,1), (3,4), and
(3,1) over the x-axis.
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78) Identify the Transformation:

DN
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80) Solve:
Translate the point defined by
(-3,1) by moving it right 4 and
down 3.
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1 4 i 4 i
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81) Solve: 82) Solve:

Rotate the triangle with vertices: Dilate the quadrilateral with
4,2), 2,-1), & (-3,-3) by 90° vertices: (-2,3), (-2,4), (-4,3), and
counterclockwise around the origin. (-4,4) starting from the origin and

T Ep—r using a scale factor of 4.
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83) Identify the number of Lines of  84) Identify the Key Word(s):
Symmetry (if any): Find the word(s) that mean add:

Both Bill's dimes and her dimes

are less than Rachel started with.

85) Identify the Key Word(s): 86) Identify the Key Word(s):
Find the word(s) that mean subtract: Find the word(s) that mean
By how many apples did Tim's multiply:
apples decrease? Craig's cars times her cars are less

than Sara started with.



87)

89)

Identify the Key Word(s):
Find the word(s) that mean divide:

At what speed was Larry going when

he got a ticket?

Solve:

What is the dependent variable in
this picture?

- TO—MmMX
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88)

90)

Solve:
What is the meaning of domain?

Is the relation a function?
{(8,4), (-1,7), (4,-3), (-3,7)}



91)

93)

95)

Is the relation a function?
Xy

0 L X

2
-3
9
7

Solve for z
x-6-4-202 4
y036zI12I15

Solve:
Find the domain:
{(9,4)’ (1,'2)’ (2a8), (791)}

92) Is the relation a function?

94)

96)

4’
3 ;
‘

!

7

Solve for z
x-6z-2024
y 0-1-2-3-4-5

Solve:
What is the domain of:

XYy

oo

W L
~N oW



97) Solve:

98) Solve:
Find the range:

,% % _Find the domain:

{('l’l)’ (49'4)s (-1,8), (2’2)}

1 1 ' i
I i 1 |£8 i
-8 -7 -6 -5 ~4

(Descrihe Hee values og X)

99) Solve:

What is the range of:

Xy

O — (O
o a0

lo1) Simplify:
-10e® + 10¢’

io 3) Simplify:
-2bwy? - b’wy?

100) Solve:

% e Find the range:

1
i i 1 I I J]

1 ! I ¥ ¥ I

| 26 -5 -4 -3 -2 1

i02) Simplify:
10m’s? + -2m?s?

jo4) Simplify:
22 - 527

(DGSCH l)c"'llﬁcfp \/Q\ue S

4)



105) Simplify:
(2kr)(-2k)
/D7) Simplify:

(-3x) + (-2x + 5)

(09) Simplify:
(h*-h-4)-(-h +4)

i11) Simplify: )
(:l2n):2p-ll- ngxz) '

113) Solve for x:
x-4=-9

{15) Solve for x:
x+9=-5

zm) %olve

ESERY

Hol\ gol\}@
X +5H+6X = 1-5Xt3

0 6) Simplify:
(7)(Tm?)

| 08) Simplify:
(-2x%2-4x +3) + (3> -5x + 1)

//O) Simplify:
(-3x%-3x +2) - x>+ 4x -1)

/ /ﬂ) Simplify:
-H{@x> +4x + 1)

i | Solve for x:
114 N

{ /Q Solve for x:
X+9=35

}/?) Solye
LY - 8= 249X~/

/.’.w) Solve
dlax-3)= 3+ K-l






